



Vendor Ranking

Page 1 of 1

 Letting:
 05231107
 November 07, 2023 2:00 PM Call Order: 002
 Contract:
 E51F0

 District:
 District 5
 Counties:
 ORANGE
 Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS

Project(s): 44623615205 (*)

Contract Desc: TSM&O ATSPM PUSHBUTTON CONTRACT W/ MOBILIZATION

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TRANSCORE ITS, LLC.	Responsive	Winning bid	\$523,606.70	100.00%
2	HIGHWAY SAFETY DEVICES, INC.	Responsive	Non-Winning Bid	\$736,565.00	140.67%
3	TRAFFIC CONTROL DEVICES, LLC	Responsive	Non-Winning Bid	\$800,000.00	152.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

 Letting:
 05231107
 November 07, 2023
 Call Order:
 002
 Contract:
 E51F0

 District:
 District 5
 Counties:
 ORANGE
 Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS Project(s): 44623615205 (*)

Contract Descr: TSM&O ATSPM PUSHBUTTON CONTRACT W/ MOBILIZATION

The Improvements under this Contract include providing the construction and completion of the work described in the Contract. Furnish all labor, materials, equipment, tools, transportation, and supplies required to complete the work in accordance with the Contract Documents.

The intent of this contract is to provide a means whereby the DEPARTMENT is able to provide the timely installation of Intelligent Transportation Systems (ITS) devices at various locations in District Five, to upgrade existing intersections to ATSPM standards, including advanced detection at all lanes, presence detection at all lanes, and turning movement count data for all lanes. The project shall last for a period of two (2) years or until the contracted amount has been reached. The work under this Contract will be controlled by the issuance of Work Documents. The number of work documents for the contract will be limited by a budgetary cap of \$500,000 dollars.

All work documents will include mobilization compensation. See Mobilization section 101 for more details.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

PREQUALIFICATION REQUIRED

Line No / Item ID Alternate Item Description	Quantity Units	(1) TRANSCO	RE ITS, LLC.	(2) HIGHWA DEVICE		` '	C CONTROL ES, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	oadway						
0005 0101 1 1 MOBILIZATION- FOR WORK ORDER/PUSH BUTTON CONTRACTS (DO NOT BID) 44623615205	(1.000) LS	50,000.00000	50,000.00	50,000.00000	50,000.00	50,000.00000	50,000.00
0010 0102 14 TRAFFIC CONTROL OFFICER	32.000 HR	87.50000	2,800.00	145.00000	4,640.00	141.00000	4,512.00





Tabulation of Bids

Page 2 of 6

Letting: 05231107 Nov	ember 07,	2023 Cal	l Order: 002		Contract:	E51F0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRANSCO	RE ITS, LLC.	(2) HIGHWA DEVICE			C CONTROL ES, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa	adway						
0015 0102 60 WORK ZONE SIGN	250.000 ED	0.73000	182.50	2.00000	500.00	0.40000	100.00
0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI VP, DRUM, OR LCD	250.000 , ED	0.73000	182.50	2.00000	500.00	0.70000	175.00
0025 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	25.000 ED	17.50000	437.50	25.00000	625.00	35.00000	875.00
0030 0110 4 10 REMOVAL OF EXISTING CONCRETE	40.000 SY	52.02000	2,080.80	120.00000	4,800.00	300.00000	12,000.00
0035 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	40.000 SY	94.92000	3,796.80	200.00000	8,000.00	562.00000	22,480.00
0001 Roadway Section	on Totals:		\$59,480.10		\$69,065.00		\$90,142.00
SECTION: 0002 Sig	nalization						
0040 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEN TRENCH	100.000 LF	29.17000	2,917.00	75.00000	7,500.00	28.00000	2,800.00
0045 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	200.000 LF	43.75000	8,750.00	90.00000	18,000.00	39.00000	7,800.00





Tabulation of Bids

Page 3 of 6

Letting:	05231107	November 07,	2023 Ca l	l Order: 002		Contract:	E51F0	
	/ Item ID Alternat	e Quantity Units	(1) TRANSCO	RE ITS, LLC.	(2) HIGHWA DEVICE			C CONTROL ES, LLC
	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
s	ECTION: 0002	Signalization						
	30 214 FURNISH & INSTALL, DUND	40.000 LF	50.79000	2,031.60	125.00000	5,000.00	65.00000	2,600.00
VEHICLE D	60 3 11 ETECTION SYSTEM- VE, FURNISH & INSTALI QUIPMENT	8.000 EA	3,161.80000	25,294.40	3,500.00000	28,000.00	3,225.00000	25,800.00
VEHICLE D MICROWA\	60 3 12 ETECTION SYSTEM- VE, FURNISH & INSTALI OUND EQUIPMENT	8.000 EA	10,793.69000	86,349.52	12,200.00000	97,600.00	11,870.00000	94,960.00
VEHICLE D	60 351 ETECTION SYSTEM- VE, ADJUST & MODIFY, QUIPMENT	1.000 EA	2,153.57000	2,153.57	2,250.00000	2,250.00	1,930.00000	1,930.00
VEHICLE D MICROWA\	60 3 52 ETECTION SYSTEM - VE, ADJUST & MODIFY, OUND EQUIPMENT	1.000 EA	3,083.11000	3,083.11	3,500.00000	3,500.00	2,515.00000	2,515.00
VEHICLE D	60 411 ETECTION SYSTEM- VI INSTALL CABINET	9.000 DEO, EA	17,446.01000	157,014.09	25,800.00000	232,200.00	22,965.00000	206,685.00
VEHICLE D	60 412 ETECTION SYSTEM- VI INSTALL ABOVE GROUT		7,486.27000	67,376.43	13,200.00000	118,800.00	13,292.00000	119,628.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	j: 05	5231107	November 07,	2023 Cal	II Order: 002		Contract:	E51F0	
	No / Item ID Description	Alternate	Quantity Units	(1) TRANSCO	RE ITS, LLC.	(2) HIGHWA DEVICE			C CONTROL ES, LLC
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signalization						
VEHICLE	ATE ABOVE G	N SYSTEM- VII BROUND	1.000 DEO, EA	4,037.95000	4,037.95	4,200.00000	4,200.00	2,960.00000	2,960.00
VEHICLE		N SYSTEM- VII BINET EQUIPM		984.23000	7,873.84	1,000.00000	8,000.00	1,930.00000	15,440.00
VEHICLE	MODIFY ABO	N SYSTEM- VII OVE GROUND		1,941.11000	15,528.88	1,300.00000	10,400.00	2,515.00000	20,120.00
TRAFFIC	0670 5112 CONTROLL MA, 2 PREEM	ER ASSEMBL' PTION	1.000 Y, AS	48,044.19000	48,044.19	53,000.00000	53,000.00	58,700.00000	58,700.00
TRAFFIC		ER ASSEMBL` ER WITH CAB		1,648.81000	1,648.81	2,300.00000	2,300.00	1,970.00000	1,970.00
TRAFFIC		ER ASSEMBL'		315.18000	7,879.50	720.00000	18,000.00	1,930.00000	48,250.00
TRAFFIC		ER WITHOUT STING CABINE	1.000 EA ET,	11,667.20000	11,667.20	13,700.00000	13,700.00	13,250.00000	13,250.00
	0671 240 CONTROLL	ER, MODIFY	25.000 EA	193.34000	4,833.50	1,000.00000	25,000.00	1,930.00000	48,250.00





Tabulation of Bids

Page 5 of 6

Letting: 0523110	November 07,	2023 Cal	l Order: 002		Contract:	E51F0	
Line No / Item ID Alternate Quantity Item Description Units		(1) TRANSCORE ITS, LLC.		(2) HIGHWAY SAFETY DEVICES, INC.		(3) TRAFFIC CONTROL DEVICES, LLC	
() indicates item is bid as Lum	p Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Signalization						
0125 0680 1600 SYSTEM CONTROL EQUIPM REMOVE COMPLETE SYSTE		357.51000	2,502.57	2,150.00000	15,050.00	4,365.00000	30,555.00
0130 0684 1 1 MANAGED FIELD ETHERNET FURNISH & INSTALL	1.000 I SWITCH, EA	5,140.44000	5,140.44	5,000.00000	5,000.00	5,645.00000	5,645.00
0002 Signaliza	tion Section Totals:	\$464,126.60		\$667,500.00		\$709,858.00	
Contr	act Grand Totals:		\$523,606.70		\$736,565.00		800,000.00



11/16/2023

Tabulation of Bids

Page 6 of 6

Letting: 05231107 November 07, 2023 **Call Order:** 002 **Contract:** E51F0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.